WZ13-150 WAE“ER

AARED

i

()
3
I

L
H=(O—S

[C40003A

—_

AR - 03 - I T ERKEETH2HERHVET, 2023.02



_ A
WZ13-150 WAGNER

POS T 4 H= JEAM ik

1 B ER T 1 BEF fka Al

2 2103317 |BEEAARAAT)LR 1 3,200|R3/8M X R1/2F H

3 2110132 WK T X 75— 1 5,000|G3/4 X R1/2M

4 2116350 |W/K7 4L 5 — 1 750| ¢ 21

5 2110361 |FH%k/~7 1 1,500

6 2110360 |7ru—x— L7 1 23,500{VR54

7 2104620 |AAAATILR 1 5,600|R3/8

8 2118067 |7 7—/rvhk 1 4,400|SUS3/8F

9 2110140 | = HT7H T H— 1 6,200|G1/2M X R3/8M X R1/8F
10 | 2103520 |=ARFa—T T 497400 1 R1/8 X ¢ 10 FEHRMALIAA AT
11 | 2104213 |Z/VRIR—AT 4T A2 1 1,700|G3/8M X R3/8M

12 2103820 |HEN=7 —h&xTF 2—7 1 1,200{U2-4 10 X 6.5 X 300
13 | 2110386 |75 (1) 1,800

14 | 2240025 |AR—ANRUR - 12 1 570(9.5 ~ 12

15 2110137 |HEY=7 —Hhi&5p 1 8,400

16 | 2104700 |F1— 1 5,000|R1/4F

17 | 2115553 |[EJ1at « SLiAF~ 1 14,700| ¢ 50 X 35MPa

18 | 2104002 |=v 7L 1 870|R1/4M

19 2104481 I8 MR T X 72— 1 3,600|(G3/8F X R1/ 4M

20 | 2110387 |ZAYHTF— 2 400

21 | 2110388 |#A¥ 2 VN-150 BEHALAE A AT
22 | 2110154 |U~_wk 2 1,700 ¢ 16

23 | 2110389 |Z A 2 620{C-31-3

24 | 9920102 |ETUw p— 2 180[M8

25 | 2110396 |k~mV)— 1 29,200

27 | 2110392 |HRrF_—= 1 13,000

28 | 2110393 |FLFyv 2 270

29 | 2108200 [T v 1 GX200QJF

30 | 2110394 |F1— 1 3,800[4.75 X 4.75 X 45

31 2109301 |[FEAAT SR 8 270[M8 X 20

32 2109300 |[FE4AAT R AR 2 270|M8 X 157

33 2109302 |[FEAAT S AR 2 270|M8 X 407

34 | 2109500 7T AN T b 8 270|M8

35 | 2109310 [/ANMAAR/LE 2 260[M5 X 30

36 | 2110152 |PhiE= A 1 5,800{NQ0214

37 | 2110395 |#EAIPLIRS 2 2 4,500|KE-30

LC40003A

2
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-150 WAE
NER

SEARVT [TT1512C]1(PN 2110301)

70 69 68 67 66 65 8 34 62

[C40004A

3
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



WZ13-150

A
WAGNER

POS RS i B TEA ik
1 2110302 (7T 7/r—2A 1 39,000

2 2110303 [AANRL T TS 2 4,500|G3/8

3 2110304 [0V 1 1,200[13.95 X 2.62
4 2110305 |[FaTFoX— 1 2,600

5 2110306 [A AL —/L 3 2,500[15 X 24 X 7
6 2110307 |79/ 1 2,600|G1/4

7 2110308 |v=&—/LK 1 160,000

8 2110309 |4 12 400| ¢ 6.4

9 2110310 |54 9XFHAR VR 8 270|M6 X 40

10 2110311 [0V 6@ 270[17.32 X 2.62
11 2110312 |[2L7 o —h 6@ 4,000

12 2110313 |27 6@ 1,600

13 2110314 [N\ T72AFYL 6@ 860

14 2110315 |\ T7 A — 6@ 1,300

15 2110316 [0 VUV 6 270[20.29 X 2.62
16 2110317 |\ T T 6 7,700|M24 X 1.5
17 2110320 |27 H—E 2BV [ 32,100|1 5%y

18 2110321 |~y KU 30 1,200

19 2110322  |@)JE/ o 30 5,000

20 2110323 |z 30 7,300

21 2110324 [0V 7 30 520[25.12 X 1.78
22 2110325 [0V 30 620[15.08 X 2.62
23 2110326 |AANY AT TA 1 5,000

24 2110327 |=—KA_TVT 1 5,200

25 2110328 |[AANAT AV 1 4,300

26 2110329 [/NfaF b 3 3,300|M8

27 2110330 |Uviy— 3 1,200| ¢ 8

28 2110331 |[BTFIv 7B AR 3 18,100| ¢ 15

29 2110332 |0V 3 380(5.28 X 1.78
30 2110333 |\ o TV 3 1,200

31 2110334 |Vl y— 3 860[ ¢ 9

32 2110335 |7 U8 3 3,200 ¢ 8 X 24.5
33 2110336 |72 U/ —AH N — 1 11,600

34 2110337  [/S£49XFFAR VR 4 270/M6 X 18

35 2110338 |0V 1 1,500(88.57 X 2.68
36 2110339 |27 AV avR 3 19,400

37 2110340 [E°ARrmwR 3 15,600

40 2110345 [— Y —EZxEvh1 B O 35,800(Pos.18,19,20,21,22
62 2110346  |Hff77v 1 14,700

65 2110347  [A—H— 1 4,300

66 2110348 |0V 1 650[43.5 X 3.53
67 2110349 |A AL —/L 1 4,000[30 X 42 X 8
68 2110350 |EEV7 1 860

69 2110351 |g@—F—_7 UL 1 9,400(6206

70 2110352 |77 73 %7k 1 46,600

Pos.17 7NV 7 H—bE 2By ML, Pos.10,11,12,13,14 B 6 3oy &L T0ET, (
Pos.40 3 — /L —E 2t I, Pos.18,19,20,21,22 7345 3 /T/D“Oﬂz»y}\z‘fzhfb E (

fIAk - dn - MRS T ERKER T 2ENHYET,

LC40004A

2023.02




7> O—45—/\)L 7 [MV540](PN 2110360)

[C40005B

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



_ A
WZ13-150 WAGNER

POS T Ea B TEAM ik
1 2110361 |FHi& /)~ 1 1,500
2 2110362 |FHIET v 1 3,500
3 2110363 |27 F vk 1 1,200
4 2110364 |[FHERATV T 1 2,000
5 2110365 (AU JE4s 1 1,800
6 2110366 ["ARy 0! 3,300 B AL A4S AR AT
7 2110367 |\ 77TV (3 780| B A A AT
8 2110368 |0 UV 0! 270(7.66 X 1.78
9 2110369 |2V & — 1 5,800 | B S A A ]
10 | 2110370 [0V Q! 500[17.17 X 1.78
11 | 2110371 [0V Q! 270(6.07 X 1.78
12 | 2110372 |77V ®! 910 Hi i fifa A\l
13 | 2110373 [0V Q! 500[14.00 X 1.78
14 | 2110374 |[A~S—H— 1 1,600
15 | 2110375 |[»3v7 Q! 2,000(11/32
16 | 2110376 [0V [} 500[9.25 X 1.78
17 | 2110377 |87 —h [ ! 2,500 | B i (e AG A ]
18 | 2110378 |[»NLTRFA 1 10,100{MV540
2110399 |V TARF 4— - F 1 9,700[MV540F
19 | 2110379 [0V [} 380[4.3 X 2.4
20 | 2110380 |&5ESR; Q1 2,200 B SL A4S R 7T
21 | 2110381 |[ERATVZ Q1 860 | HL L e A AT
22 | 2110382 OV o1 380[15.60 X 1.78
23 | 2110383 |7 4vT AT 1 3,800
2110391 [ FV—hJ~7 %k [ 6,600|Pos.6,7,8,10,11,12,13,15,16,17,
19,20,21,22
2110360 |[7ra—&— L7 23,500|VR54
.C40005B-1
6

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02




WZ13-150 WAGNER

% - KR—Z (PN 2116135)

ID40001A
POS i 4 T TEAT ik

1 1
1-1 2116135 W « KV AL HR—A 20,800(G3/4 + G1/2 X 3m
1-2 2116136 |H 4/ v% 3/4 1,700(5 ¥ AV
1-3 2116137 |[H4&/3vF% L 1/2 1,500(5 Kz AV
1-4 2116138 |[H4&/3v% 2 3/8 1,300(5 Kz AV

2 2116320 [ARL—F— - [ 1 4,200|(G3/4F

.D40001B-2
7

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.02



